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(”Pv=nRT, R=008206 (Latm)/(molK) (P2V2)/@®iV1)=T2/Ty & Aote
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1. Circle the following which are strong acids . (3 pts)

HC HF cmcoon  (HBY O (504 @
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3. Calculate the concentration made up by using 4.5 grams of Na Cl (FW of Na Cl = 58.5 g/mol¢ m:- Ve

make up 1.2 Liters of solution. (6 pts) M/l - Y’\Ofﬂs/hée...r @
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4. If we are doing a titration by combining HCl with K OH using 0.25 M of the H Cl with 0.15 M ofthe K

OH starting with 0.250 Liter of the HCI , how many liters of KOH will you need ? (6 pts)
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5. if you have n (principal quantum number) = 5, what are the possible values of angular momentum quantum
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What is the electron configuration for the element fluorine (F) ? Show electron configuration in the format
1s%, 25%, 2p°.
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Extra Credit Question: (4 pts)




Gen Chem I (CHM 220) Fall 17 Dr. H:
Name / Ce/%}(

Please sho“_'_ y_ygrk on all questions for partial cre | even on questmns which do ToTSpe ify. (25 total pts)
“PV=1RT, R=0.08206 Lam)/@olK)  (P2V2)/(®P1V1)=To/T," — h Oe
760 mm Hg=1atm., °C+273.15=XKelvin M =moles / liter

1. Circle the following which are weak amds (3 pts)

HCl ( H F CH3:COOH HNOs HaSO4

2. Calculate the oxidation state of the circled element in the following molecule. (4 pts)
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3. Calculate the concentrEnon made up by using 7.2 grams of Na Cl (FW of Na Cl = 58.5 g/mole) dissotved
make up 2.3 Liters of solution. (6 pts)
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4. 'Youhaveagasa 7802mmﬁgat218 °C'in a 1.2 Iiter container, You compress the gas to a volumé o
0.789 Liter and measure the temperature to 30° C. What is the new pressure of the gas? i pts
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3. Ifyou have an angular momentum quantum number (% ) of 3, what are the possible values of the magnetic
quantumnumber(w)?ﬂ pts) / 0 é) 2/
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Extra Credlt Question: (4 pts) C/\Z # J

What is the electron configuration for the element oxygen (0) ? Show electron configuration in the format
152, 252, 2p.




Gen Chem I (CHM 220) Fall 17 Dr. Hahn MWF 9 am Quiz I 10/13 F Exam #
Name Print Name
Please show work on all questions for partial credit even on questions which do not specify. (25 total pts)
PV=pRT, R=0.08206 (Latm)/(molK) (P2V)/(P1Vi1)=T2/Th
760 mm Hg=1 atm., °C+273.15=Kelvin M = moles / liter
1. Circle the following which are strong acids . (3 pts)

HCl1 HF CH;COOH HBr HNOs H>S804

2. Calculate the oxidation state of the circled element in the following molecule. {4 pts)

HEO;

3. Calculate the concentration made up by using 4.5 grams of Na C1 (FW of Na Cl = 58.5 g/mole) dissolved to
make up 1.2 Liters of solution. (6 pts)

4.  If we are doing a titration by combining H C1 wxﬂaKOHusmgOZSMofﬂerC!mthOISMoftheK
OH starting with 0.250 Liter of the HC1 , how many liters of KOH will you need ? (6 pts)

HC] + KOH - KC + HO




5. If you have n (principal quantum number) = 5, what are the possible values of angular momentum quantum
number (@ ) (3 pts)
L
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Extra Credit Question: (4 pts)

What is the electron configuration for the element fluorine (F) 7 Show electron configuration in the format
1s%, 252, 2p5.




Gen Chem I (CHM 220) Fall 17 Dr. Hahn MWF 10 am Quiz III 10/13F Em#
Name Print Name

Please show work on all questions for partial credit even on questions which do not specify. (25 total pts)
PV =nRT, R=0.08206 (L atm)/(mol X) @P2V2)/(P1V1)=T2/ Ty
760 mm Hg=1atm., °C+273.15 = Kelvin M =moles / liter

1. Circle the following which are weak acids . (3 pts)

HCl HF CH;COOH HBr HNOs H2S04

2. Calculate the oxidation state of the circled element in the following molecule. (4 pts)

H3® O4

3. Calculate the concentration made up by using 7.2 grams of Na Cl (FW of Na Cl = 58.5 g/mole) dissolved to
makeup 2.3 Liters of solution. (6 pts)

4. You have a gas at 780.2 mm Hg at 27.8 °C in a 1.2 liter container. You compress the gas to a volume of
0.789 Liter and measure the temperature to 30° C. What is the new pressure of the gas? (6 pts)
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5. Ifyou have an angular momentum quantum number (m ¢ ) of 3, what are the possible values of the magnetic
quantum number (g ) ? (3 pts)

g

Extra Credit Question: (4 pts)

What is the electron configuration for the element oxygen (O) ? Show electron configuration in the format
1s%, 25?, 2p%,




